4

3

\ 4

2

UM

2" GALV. STEEL BACKER PLATE

AT EACH INTERMEDIATE_HINGE LOCATION.
BACKER PLATE ATTACHED WITH DOUBLE SIDED
U—BAR SEE SECTION ACRYLIC ADHESIVE TO BACK OF DOOR.

CLOPAY / IDEAL / HOLMES INTELLICORE DOORS UP 10 22" 2°W x 18" 0" H MAXIM
3717/ C7X17 / / 27GA 1,75’ THICK MINOR RIB
3718  / C7X18 / / 27GA 1,75’ THICK FLUSH (1) 20 &
3720 / C7X20 / 240U / 27GA 2’ THICK MINOR RIB
3722/ COXe2 / / 20GA 2’ THICK FLUSH U-BAR SeE_secr
3724  / C7X24 / 244U  / 24GA 2 THICK MINOR RIB ven

--------- A

>
N
N

Va

Vi

Va

Vi

s

ADJUSTABLE TOP
ROLLER BRACKETS

C—CHANNEL SEE
SECTION A—A FOR
DETAILS

TWO SLIDE BOLT LOCK
POINT ENGAGES INTO VERTICAL

TRACK. ONE LOCK ON
LOCKING EACH SIDE OF DOOR.
REQUIRED

REVISIONS
REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
00 - 01/28/13| ER1290 SH INITIAL RELEASE.
. OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT)
1" OVERLAP —

OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE (1/8" DSB OR 1/8"

ACRYLIC). FULL VISION SECTIONS TO HAVE SAME REINFORCEMENT AS OTHER SECTIONS
EXCEPT AS NOTED.
OPTIONAL ACRYLIC GLAZING IS PLASKOLITE OPTIX, AN APPROVED CLASS CC2 PLASTIC IN
COMPLIANCE WITHIF\II:SBI%E/SIBC 2606.
INSIDE_ SLIDE BOLT

MAX. DOOR WIDTH 22'-2"

DOOR HEIGHT A NUMBER OF
SECTIONS
UP 10 80" 4
8—3" THRU 10°-0" 5
10-3" THRU 12-0° | 6
12'=3" THRU 14=0" | 7
14—3" THRU 16-0"_| 8
16—3" THRU 18—0" | 9

14 GA. END HINGE

(4) #14x5/8" SHEET

METAL SCREWS

TAPPING SCREWS
14 GA.

(2) 1/4°x3/4” SELF

6" C—CHANNEL STRAP; (7) STRAPS PER
SECTION. OPTIONAL FULL VISION SECTIONS
HAVE (9) STRAPS PER SECTION.

(EACH SIDE)

16 GA. MIN. GALV. STEEL DOUBLE END STILE

JAMB CONFIGURATION

SEE JAMB
ATTACHMENT
ILLUSTRATIONS
AND TRACK
DETAILS.

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE

/ 6" C—CHANNEL

VIEW E/l;\5=’

ATTACH THE 6" x 2—1/4"x 12 GA. STEEL
REINFORCING PLATE TO THE UNDERSIDE OF THE

C—CHANNEL WITH (4) 1/4"x3/4”

SELF TAPPING SCREWS AT THESE LOCATIONS.

INTERMEDIATE HINGE

VIEW "A”

VIEW "B”

FACTOR.

THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE
WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA
BLDG. CODE OR IBC (ASCE7) FOR THE FOLLOWING
CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR HAS 2' OF
WIDTH IN BUILDING'S END ZONE, 3) IMPORTANCE FACTOR OF
1.0, 4) ROOF SLOPE LESS THAN 10", AND 5) 50% SAFETY

IF THESE (5) CONDITIONS ARE NOT MET, A LICENSED
ENGINEER SHOULD BE EMPLOYED TO DETERMINE IF THIS
PRODUCT MEETS THE REQUIRED WIND SPEED.

ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM

WIND SPEED (MPH)| <110 120 120 130
EXPOSURE LEVEL [B or C B C B
| MEAN _ROOF_HEIGHT 30° 30° 20’ 30°

3" ROLLER CARRIER

OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (FBC / IBC CHAPTER 16).

PART

# 0120394. MOUNT WITH
QTY 3 SELF DRILLING

SCREWS AS SHOWN

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO SUIT)

POLYURETHANE FOAM
INSULATION (2.44# PCF)

14 GA. GALV. STEEL CENTER HINGE FASTENED TO
INSIDE SKIN W/(4) #14x5/8" SHEET METAL SCREWS.

(VIEW "B")

7/16" PUSHNUT INSTALLED ON ROLLER SHAFT

14 GA. GALV. STEEL ROLLER HINGE FASTENED TO END STILES
W/(4) #14x5/8" SHEET METAL SCREWS AND (2) 1/47x3/4"
SELF TAPPING SCREWS. (VIEW "A")

3” STEEL LONG STEM ROLLER

SECTION B—B

SILICONE FILLED CHANNEL SEPARATES
FRONT AND BACK SKIN OF DOOR

"

—

1-3/4" MIN. THICK
/‘3" TALL x 20 GA. GALV. STEEL U—BAR. ATTACHED ONE AT THE

NUTS PER BRACKET.

GROOVE JOINTS

TONGUE AND

(2 BRACKETS PER SIDE)

6" X 2-%'

Zy GALV. TAPERED STEEL TRACK AND ANGLE,
TRACK THICKNESS: .101". ANGLE THICKNESS: .080"
VERTICAL/HORIZONTAL TRACK "
\JUNCTION/ TWO 1/4” BOLTS | ‘F‘;OM’MMOSS,’}%',TS
E & NUTS FOR EACH TRACK.
5 SLOT TO TRACK JUNCTION
ETY
~ \ ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS
S OVER 7°0" HIGH SPACED AT 12" CENTERS.
= B
t TRACK CONFIGURATION
'g ONE % TRACK BOLT AND NUT
g TT AT EACH MOUNTING SLOT
T LOCATION.
o
P4
s £
Q a DOOR
HEIGHT | "L"
8'—0" | 88"
9'—0” [100”
EVERY 12" 0’—0"]112"
2'=07[136”
4'—0"[160”
—10" 15"—07172”
! 6'—01184"
e 7°=071196"
13_1/2' 8'—C 208"

NOTE: THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY

OF THE PROFESSIONAL OF RECORD FOR THE
BUILDING OR STRUCTURE AND IN ACCORDANCE

24 GA. MIN. EXTERIOR STEEL
WITH GALV. &POLYESTER FINISH

27 GA. MIN. INTERIOR STEEL SKIN
WITH GALV. & POLYESTER FINISH

HINGE. (SEE VIEW A)

14 GA. GALV. STEEL ROLLER

TOP OF EACH SECTION EACH U—BAR ATTACHED WITH (2)
1/4"x3/4" SELF TAPPING SCREWS AT EACH BACKER PLATE & 4
SCREWS ON EACH END STILE

Z———12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
ATTACHED W/(4) #14x5/8" SHEET METAL SCREWS. ADJUSTABLE
SLIDE ATTACHED TO TOP BRACKET WITH (2) 1/4"x1/2" BOLTS AND

1—1/4" WIDE MIN. x 16 GA. GALV. STEEL STRAP. EACH
STRAP ATTACHED W/(3) 1/4"x3/4” SELF TAPPING
SCREWS (TWO TO DOOR, ONE TO C—CHANNEL).

X 12 GA. STEEL PLATE. SEE VIEW ‘E’

VIEW "C”

6" TALL C—CHANNEL
16 GA. GALV. STEEL
MIN YIELD STRENGTH SOKSI

WITH CURRENT BUILDING CODES FOR THE LOADS

ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.

CONCRETE JAMBS

2,000 PSI MIN
CONCRETE

3/5' DiA. x 14 /z' EMBED

WASHER INCLD

11" MAX. 0.C.

TO SECURE 2x6 JAMB
TO CONCRETE.

C'SINK IF_NEEDED.

/ 3" MIN. EDGE DIST.
CONTINUOUS ANGLE

MOUNT
TRACK FASTENED TO 2x8 2 OR
BETTER YELLOW PINE JAME WITH
ONE 5/16°x1-5/8" LG. LAG
SCREW PER TRACK CLIP
LOCATION.

2,000 PSI MIN
CONCRETE

ANGLE MOUNT TRACK
FASTENED DIRECTLY
TO CONCRETE.

1/4"X1-1/2" MIN,
EMBED

3 MIN EDGE DIST.

REVERSE OR CONTINUOUS

MAY BE BACK—FILLED
WTH CONCRETE, BUT

NOT REQUIRED FOR
SELF TAPPING SCREW.

STEEL JAMBS
3/16" MIN. STEEL
JANB

1/4"x3/4°
SELF TAPPING|

STEEL JAMB.

455 OR CONTINUOUS

ANGLE MOUNT TRACK
FASTENED DIRECTLY
TO STEEL JAMB.

WOOoD JAMBS

LISTED ON THIS DRAWING.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

ONE 6” TALL, 16 GA. C—CHANNEL PER DOOR SECTION. ‘«—6"4‘

(1) 1/4"x3/4" SELF TAPPING SCREW PER END STILE AND

BACKER PLATE LOCATION. (SEE VIEW "C") 2-1/2"
5/8" | |

12 GA. GALV. STEEL BOTTOM BRACKET. ATTACHED
WITH (4) #14x5/8" SHEET METAL SCREWS.

DESIGN ENGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495

DESIGN LOADS: +30.0, —30.0 PSF

2 45.0 PSF MANUFACTURING PRODUCT CODE:

SECTION A—A (SIDE VIEW)

TEST LOADS: +45.0,

OON;I;NUWS ANGLE MOUNT

0
BETTER YELLOW PINE JAMB WITH
ONE 5/16°x1-5/8" LG. LAG
SCREW PER TRACK CLIP

LOCATION.

3/8"1-1/2" MIN.
EMBED LAG SCREW
1-1/8" WASHER REQ'D|

20" MAX. 0.C.
SECURE 2x6 WO(D
B_TO_WOOD

C'SINK IF NEEDED.

ED TO 2x8

TO BE LOCATE!

WELD TOE OF ANGLE AT

3{16' MIN. MAY BE BACK—

L JAMB FILLED WITH
CONCRETE, BUT
NOT REQUIRED.

;(B x1” LONG

WELD (|
ELECTRODE MIN) WELD
VERTICALLY, STEEL JAMBS

12 GA. GALV. REVERSE
OR CONTINUOUS ANGLE
MOUNT TRACK FASTENED
DIRECTLY TO STEEL JAMB.

ON ANGLE AT 24-
CENTER AND 1/4" TACK

SAME SPACING.

CLOPAY CORP.

ALL RIGHTS RESERVED.

MPC: C-DSIU-1D447

Third Angle
Projection

]

Unless Stated Otherwise

TOLERANCES are

0 = +.031

.00 = +.015
.000 = £.005
.0000 = =£.001
Degrees = +1/2

Unless Stated Otherwise
DIMENSIONS ARE IN INCHES.

= Glopay

Building Products Company

8585 Duke Boulevard
Mason, OH 45040 USA
Tel. No. 513-770-4800
Fax No. 513-770-4853

CLOPAY WINDLOAD RATING

WO

DESCRIPTION: 1-3/4" INTELLICORE WINDLOAD 22'—2”

DRAWN BY: RJK DATE: 1/28/13 | SCALE: NONE  [pwa.
CHECKED BY: - DATE: — SHEET 1 OF 1 [SIZE
DWG. NO.: 104644 VER: IBC

4

3

2




